
 

MOVIMIENTO VIBRATORIO ARMÓNICO SIMPLE (MVAS) COMO 

PROYECCIÓN DEL MOVIMIENTO CIRCULAR UNIFORME (MCU) 

 

 

 

 
 

 

 

 

 

 

 

 



 

 

 
 
 
 

x = A cos ωt     para t = 0 s      entonces       x = A m  

 
 

y = A sen ωt     para t = 0 s      entonces       y = 0 m  

 

 
 
 

x = A cos ( ωt+ )     para t = 0 s      entonces       x = 0 m
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
  

 

y = A sen (ωt+ )   para t = 0 s      entonces       y = A m
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x = A cos (ωt+ )     para t = 0 s      entonces       x = -A m  

 
 

y = A sen (ωt+ )   para t = 0 s      entonces       y = 0 m  
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x = A cos (ωt+ )     para t = 0 s      entonces       x = 0 m
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
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y = A sen ( ωt+ )   para t = 0 s      entonces       y = -A m
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